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*#FINSTRUTIONS®#%
Calculators not allowed.
. Logarithm table is not to be used.

. 4 marks will be awarded for each correct answer and 1 mark will be deducted for each wrong

answer.

BT R BHAT 69 55, BT Z 04T 69 L F X A= 42015,
670, A,B,C,D,E,F,G,H, 1,672

FHE R % P&

Replace the letters by numbers so that the sum of any three consecutive numbers is of
sum 2015.

670,A,B,C,D,E,F,G,H, 1,672

The letter E should be replaced by .

A. 607 B. 671 C. 672 D. 673 E. 674
111
EJ N _+_:_, }; ]X"( o
oo a0k TAEE

Given that i +L = l, find the value of k.
60 140 %

A. 21 B. 24 C. 35 D. 42 E. 45

XE TR B AR E M L 6%69 4 % HL (GST). thde, M EE 24+ RM1060 & £
& 4 RM1000 49 7 &0 & E 2844 T RM2597 & £ @A, Kiz eI & H)

The Goods and Services Tax (GST) of 6% is charged for all appliances at a shop. For
example, customers need to pay RM1060 to buy an appliance with selling price
RM1000. If Mr. Heng paid RM2597 for a TV set, find the selling price of the TV set.

A. RM2400 B. RM2450 C. RM2460 D. RM2480 E. RM2500



e4n2a+7b=503a—b), t% Z4H,

Given that 2a+7b=53a—b), find the value of % .

Al B 2 c. 2 p. 2 E =
8 12 13 17 13

KA Hon 69 FAMEAE B 1434547 +9+--+n>300

Find the smallest odd integer n such that 1+3+5+7+4+9+---+n>300.

A. 29 B. 31 C. 33 D. 35 E. 37

X 2015 A58 T 5% 2015, LS HEF EANSEEBEZE, FHeFHHE
2014, Rz AN TR,

The average of 2015 numbers is 2015. After one of the numbers is removed, the new
average is 2014. Find the value of that removed number.

A. 4029 B. 4027 C. 2015 D. 2014 E. 1008

2015-2014+2013-2012+---43-2+1=

A. 1005 B. 1006 C. 1007 D. 1008 E. 1009

10!=1x2x3x---x10 =3628800 #J & & — M ERHFH 8, K20!=1x2x3x---x20 #9
R —AMNERKF.

The last non-zero digit of 10!=1x2x3x---x10=3628800 is 8. Find the last non-zero
digit of 20!=1x2x3x---x20.

A. 2 B. 4 C. 6 D. 8 E. 9

42 2, ABCD 2 —
MRFTH, AL
BD=10, £ ABCD Q
) AR89 R KAR o

As shown in Figure 2, ABCD is a rectangle where 2

the diagonal BD =10. Find the greatest value of the

Figure 2
area of ABCD.

A. 48 B. 49 C. 50 D. 51 E. 52



10.

11.

12.

13.

424, ABCDEFZ —/~E-5iZ#, ABGHI ;2 E
BAK . RKLAFI .
As shown in Figure 4, ABCDEEF is a regular F C

hexagon and ABGHI is a regular pentagon. Find
LAFI .

A. 82° B. &4° C. 86° ]
A4

D. 88° E. 90° Figure 4

wE5, HALAZABABC B BCDARE, 4
EBCR Mg Ntin, YIAB, BD, DCA A

CA, O ANAKNR—WEFH, P =Z/E 39
T EmARL A A5, 24539, KF Fh)—AIE
VR AR IR > b

As shown in Figure 5, two right triangles ABC and 24
BCD are joined by the common segment BC. Using
the sides AB, BD, DC and CA, four different
squares are drawn. The areas of the three squares
are 5, 24 and 39. Find the area of the remaining
square.

A. 10 B. 12 C. 14

A5

Figure 5

D. 16 E. 18

Cog MNEEL a, b, a+bRa-bAFHK, RAXGNR LI 2 °

Given that the four positive integers a, b, a+b and a—b are prime numbers, the sum of
these four prime numbers is .

A. JR ¥ prime B. 18# even C. 38943 %K D. 58914 E. 789154
multiple of 3 multiple of 5 multiple of 7

Chra R bAES, H2a+3b=60. K ab ty&k KAt

Given that a and b are positive numbers such that 2a +3b =60, find the largest possible
value of ab.

A. 124 B. 126 C. 144 D. 150 E. 152
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15.

16.

17.

18.

% a=~2015"-4030 , b=+2013*+4026 B c=2014, AR & VA TFYRR EH?

If a=+/2015"-4030, b =+/2013>+4026 and c =2014, then which of the following
statements is true?

A. a<b<c B. a=b<c C. b<ax<c D. ¢c<b=a E. a=b=c

B—ANEFER, A0, FEN—RIFS5 5, B45—MP2 5, TAHAELN
BB EAD EANFETAVEE—LBE, X387 5. A S VAR M/ ZAHE
BR?

At a math contest, 30 problems were given. Each correct answer earned 5 points, and 2
points were deducted for each incorrect answer. No point if a problem is not answered.
A particular student did not answer some problems, receiving a score of 87. How many
questions did he/she not answer?

AT B. 6 C.5 D. 4 E. 3

F20155, F5 69 % BRMINT 09 F T4, A20174, 5567 5 HHF—ATT
W) TR0, AL F, F50 5 BAFRMINT 89 5 809545

In year 2015, grandpa’s age is 7 times of his grandson’s age. In year 2017, grandpa’s age
will be 6 times of his grandson’s age then; in year , grandpa’s age will be 5 times
of his grandson’s age then.

A. 2018 B. 2019 C. 2020 D. 2021 E. 2022

ENAAZABYGARS I A3x, 4x-8 K dx+1. KiZ=AK @R,

A right angled triangle has sides measuring 3x, 4x—8 and 4x+1. Find the area of that
triangle.

A. 220 B. 210 C. 190 D. 180 E. 170

Ehw P +2y=T=y+2x, Hx>y, Kx-yZi

Given that x*+2y=7=y*+2x where x>y, find the value of x—y.

A5 B. 4 C. 3 D. 2 E. 1



19.

20.

21.

22.

I Z2015H A —A, BR— MG TH, T
1234567...201320142015
LX NS RV, AES V7

A number is formed by writing the integers from 1 to 2015 in a connected way, as

follows:
1234567...201320142015

What is the remainder when the above number is divided by 9?

A. 0 B. 1 C. 3 D. 6 E. 8
Cdn +5u+3=0 B3 +5v+1=0, Huvzl, £ o0
1%

Given that u* +5u+3=0 and 3v* +5v+1=0 where uv # 1, find the value of
uv+3u+1
—

A 4 B. 5 C. 6 D. 7 E. 8

Thra, Xa,xa; X--Xa,,, =100 , a, ZEEL ., Ka +a,+a,+ - +a,, " Kb

Given that g, xa, Xa, x---Xa,,, =100 where each g, is a positive integer, find the least

possible value of a, +a, +a,+---+a,y.

A. 100 B. 105 C. 110 D. 118 E. 199
2+ ! =

1

2+
1
S
2+—
2+ -

A, 1442 B. V2-1 C. 1-2 D. 2-\2 E. 2442



23.

24.

25.

26.

4B 1, £ HDEFGA 4T A A = A HABC,
@4 AD=20 % EB=45 , £DE# ¥ F,

C
As shown in Figure 1, square DEFG is inscribed in G £
the right triangle ABC. It is known that AD =20
and EB =45, find the length of DE.
A D E B
A. 28 B. 29 C. 30 1
D. 31 E. 32 Figure 1

Jo B3, —ANERAMUNFREEES —NER
A28 F B . KRS0 Ko
As shown in Figure 3, a semicircle with diameter 24

overlaps another semicircle with diameter 12. Find
the perimeter of the shaded region.

A Ir B. 87 C. 9r &3
D. 10« E. 11z Figure 3

AT HFHAERTAERENERGFF, 400, 1, 4, 9FF,
n

/_L\ hE
EHZIANER AT AT AT T

100—n
A perfect square can be written as square of some integer, for example 0, 1, 4, 9 etc.

How many integers n are there such that

is a perfect square?
0—n

A 3 B. 4 C.5 D. 6 E. 7

6, O ZF P, ACZRNME, BEZAO

H5RG s, B4 AC=24% AB=16, K BO c
8 K

As shown in Figure 6, O is the center of the circle,
AC is a tangent to the circle at C while B is the

intersection point of the circle and AO. Given that
AC =24 and AB =16 , find the length of BO. 6

A. 10 B. 11 C. 12 Figure 6

D. 13 E. 14



27.

28.

29.

do®7, ABC RFR=A%, AB=AC=T7 ., %
DAZLBCEiEF AD=6, KBDXDC Z {4,
As shown in Figure 7, ABC is an isosceles triangle

with AB=AC=7 ,D1is on BC such that AD=6 .
Find the value of BDXDC .

A. 12 B. 13 C. 14

D. 15 E. 16

B8, ABCD Z-F47wii s, HPAABDA L
= ABAPB @A A2, = AHPBCH @A
20, K= A HBDP# @A,

As shown in Figure 8, ABCD is a parallelogram and

P is a point in ABD such that the area of triangle
APB is 12 while the area of the triangle PBC is 20.
Find the area of triangle BDP.

A. 14 B. 11 C. 9
D. 8 E. 7
VAT AR 2k % A 64 2

Which of the following is/are true?

I. P+2°+3 44> = (14243+4)
I P42+ +4 =(142+2+4)
ML P+3 43 +4° =(1+3+3+4)

A. LII I B. LII C. LI

& 7

Figure 7

&8

Figure 8

E. II, III

2x-y

2y—x




31.

32.

33.

34.

35.

% abcd =9xdcba , ¥ a, b, ¢c R AdREFREK T, K cZfh,

If abcd =9xdcba , where a, b, c and d represent different digits, find the value of c.

A. 0 B. 2 C. 4 D. 6 E. 8

L2 _x 1 Y ww %

Eo<o< Hopx By RIEEH, KyehR i
y

If 2 <X< l, where x and y are positive integers, find the smallest possible value of y.
y

A. 6 B. 7 C. 10 D. 20 E. 25

% 2log, (n—2)+log, ,(n)=3, KnZfh,
If 2log, (n—2)+log, ,(n)=3, find the value of n.

Al B. 3 C. 4 D. 5 E. 10

1, 2,3, 4,5, 6, TRERIHBARERDEAN2ILERH, FANAFTHAF—
Ko RKiXvg R by Fa,

The digits 1, 2, 3,4, 5, 6, 7, and 9 are used to form four 2-digit prime numbers, with each
digit used exactly once. Find the sum of these four primes.

A. 190 B. 180 C. 170 D. 160 E. 150
0.201515151515...=
2015 B 1995 C 1995 D 2015 B 2015

© 9900 " 9990 "~ 9900 9990 " 9999



